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1. Let P be a partition of the interval [�4; 0], the value of the limit

lim
kPk!0

nX
k=1

�
1� 4

q
16� x2k

�
�xk

is equal to

(a) 4� 16�

(b) 1� 16�

(c) 4� 4�

(d) 4 + 4�

(e) 4� �

2. If f is integrable,
R 5
�2 f(x)dx = 7 and

R 3
�2 f(x)dx = 5, then

R 5
3
f(x)dx

is equal to

(a) 2

(b) 3

(c) 12

(d) �2

(e) �12



3. If

y =

Z 0

x1=3
sin(t3)dt

then dy
dx
is equal to

(a) �1
3
x�

2
3 sin(x)

(b) 1
3
x�

2
3 sin(x)

(c) x
2
3 sin(x)

(d) 3
2
x�

2
3 sin(x)

(e) 3
2
x
2
3 sin(x)

4. The area of the region between the graph of y = cos(2x) and the x-axis
between x = 0 and x = 3�

4
is

(a) 3
2

(b) 1
2

(c) 1

(d) �1
2

(e) 2



5. The area of the region in the �rst quadrant enclosed by the curves
y = 2x, y = 1

2
x2 , y = 2 is equal to

(a) 5
3

(b) 2
p
2
3

(c) 5
p
2

(d) 2
3

(e) 11
3

6. The area of the region bounded by the curves y = 8x2 and x = y2 is
equal to

(a) 1
24

(b) 3
2
p
2

(c) 3
5

(d) 1
12

(e) 5
p
2

48



7. The volume of the solid generated by rotating the region between the
x�axis and y = x2, 1 � x � 2, about the x�axis is equal to

(a) 31�
5

(b) 33�
5

(c) 32�
5

(d) 29�
5

(e)30�
5

8. The volume of the solid generated by rotation the region between
y = 1

x
, y = x2 and x = 1

2
about the y�axis is equal to

(a)
R 1
1=4
�
�
y � 1

4

�
dy +

R 2
1
�
�
1
y2
� 1

4

�
dy

(b)
R 1
1=4
� (y � 1) dy +

R 2
1
�
�
1
y2
� 1
�
dy

(c)
R 1
1=4
�
�
1
y2
� 1

4

�
dy +

R 2
1
�
�
y � 1

4

�
dy

(d)
R 1
1=4
�
�
1
y2
� 1
�
dy +

R 2
1
� (y � 1) dy

(e)
R 2
1=4
�
�
y � 1

y2

�
dy



9. The region in the �rst quadrant bounded by the curves y2 = x and
y = x3 is rotated about the y�axis, then the volume of the resulting solid is

(a) 2�
5

(b) 3�
5

(c) �
5

(d) 6�
5

(e) 22�
5

10. The length of the curve y = 2x3=2+ 3
2
from x = 0 to x = 1 is equal to

(a) 2
27

�
10
p
10� 1

�
(b) 2

3

�
10
p
10� 1

�
(c) 20

p
10

27

(d) 2
27

�
10
p
10 + 1

�
(e) 1

9

�
10
p
10� 1

�



11. The area of the surface generated by revolving the curve x = 1
2

p
2y � 1,

1 � y � 2; about the y�axis, is equal to

(a)
R 2
1
�
q
2y � 3

4
dy

(b)
R 2
1
�
p
8y � 3dy

(c)
R 2
1
�
p
2y � 1dy

(d)
R 2
1
�
p
4y � 3dy

(e)
R 2
1
2�
p
2y � 1dy

12. The area of the surface generated by revolving the curve y =
p
x+ 1,

1 � x � 3; about the x�axis, is equal to

(a)
R 3
1
2�
q
x+ 5

4
dx

(b)
R 3
1
2�
q
x+ 3

4
dx

(c)
R 3
1
2�
p
x+ 1dx

(d)
R 3
1
2�
q
x+ 4

5
dx

(e)
R 3
1
2�
q
x+ 4

3
dx



13. The inde�nite integral Z
ex

3+2 lnxdx

is equal to

(a) 1
3
ex

3
+ C

(b) 1
2
ex

2
+ C

(c) ex
3
+ x3

3
+ C

(d) ex
2
+ x2 + C

(e) x
3

3
ex

3
+ C

14. The inde�nite integral Z
1p
x
e
p
xdx

is equal to

(a) 2e
p
x + C

(b) e
p
x + C

(c) 2e2
p
x + C

(d) e2
p
x + C

(e) ln e
p
x + C



15. The de�nite integral Z 1

�1

x2 + sinx

x2 + 1
dx

is equal to

(a) 2� �
2

(b) 0

(c) 2� �
4

(d) 1� �
4

(e) �
2

16. The volume of the solid generated by revolving the region bounded
by the curves y = 1

x
, y = 0 , x = 1 and x = 3 about the line x = 3 is equal

to

(a) 2� (3 ln 3� 2)

(b) � ln 3

(c) � (3 ln 3� 2)

(d) 2� (ln 3� 2)

(e) 2� (3 ln 3� 1)



17. Let

f(x) =

Z x3

x2
et

2

dt

,
then f(1) + f 0(1) is equal to

(a) e

(b) �

(c) 2e

(d) 0

(e) e� 1

18. The length of the curve y = (x+ 1)3=2 from x = 1
3
to x = 4

3
is equal

to

(a) 61
27

(b) 61
9

(c) 189
27

(d) 189
9

(e) 21
27



19.
R �=4
0

sin(4x)

1+sin2(2x)
dx =

(a) ln 2
2

(b) ln 2

(c) �

(d) 2 ln 2

(e) ln �

20.
R cos�1(x2 )p

4�x2 dx =

(a) �1
2

�
cos�1

�
x
2

��2
+ C

(b) 1
2

�
cos�1

�
x
2

��2
+ C

(c) ln
��cos�1 �x

2

���+ C
(d) �1

2

�
sin�1

�
x
2

��2
+ C

(e) �
�
cos�1

�
x
2

��2
+ C


